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62.  Which one of the following isan unsaturated fatty acid?
4) Palmiticacid ; - .
b) Lauricacid B Liagewie acid
Linolenic acid
. d) Myristicacid

63. Whenchlorine is passed through boiling toluene we get 70.
a) o-Chlorotoluene
b} p-—Chloro toluene m l
¢ Mixture of o & p—Chloro toluene  Cify 1% LH;
d) Benzylchloride - ¢l & 3
64. The standard temperature used in thermo chemical calculationsclét : in
a) 273K 42495 — 9 i ‘
by 298K 2F3425 = 28R

9 297K . ; _ |
d) 303K : : ‘ : \

pj bk P~ (erm ol wene ‘

65. Whichofthe following is an intensive property? '
a) Enthalpy ¥,
b) Entropy /DE"\.N“»J
Density
d) Mass

66. Schiff’s reagent contains
a) Rochellesalt s
b) Resorcinol . R ppam™ Aime
<&y Rosaniline : qq{iigN'))C’{
¢) ownaphthol

67. The formulaof chromyl chloride is
a) CrCl

b) CrCl, : Ji
g9 Crocl Cv 0oLy

Ay Crocl,

68. Homsilveris
a) Oxideore .
b) Sulfideore | jolide ©se
nCy Halide ore
d) Carbonate ore

b, Space for calculation/ rough work
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- 83, 50cc of oxalic acid is oxidized by 25¢c of 0.20N KMnO The mass of oxalic acid present in 500cc of the
. o solutionis

3.15g Cop H

b) 31.5g | .

S 63g . coo H
4 6 tovalic ocif

L_qog’m'v)

84, Pure water is neutral because
H=7 Hies
%itmus has no effect P +
c) Itis free from dlssolved salts
. d) PH=0

85. Inthe titration of Mohr salt against KMnO, the indicator used is

a) Iiliilzrgla:mne km‘“&f Mohy  SaH aﬂu,zm»{- 14 mcﬂ@4, Jﬂé’ﬁm!/
c) phenolphﬂmalem : e %q o j et exm J Tn dicator.
d) Methyl orange '

' 86. The relationship between half life of a reaction and the order of reaction is

1oL ——
a) L%
5 4a

1 b . . .
& - T < Ol e
) _ /L @Y
| c) fLOC—'1 :

1
Vi

87. 6gm ofureaisdissolved in 90g of water, Relative lowering of vapour pressure is

37002
b) 0.2 : .- HyNCONHy
¢) 0.002 .
d) 0.04
! 88.  6.84g of sucrose is dissolved in 200g of water. The moiahty of the solution is
a) 0.2M
b; 03M __mO\GCLle"Uiﬂl‘ M 621 Sucyope (CILHgEOHJ = 345
l ’\Q/OIM : ) maajturkwﬂg'xg 4 - 94 ¢
d)y 0.02M - . S 54{ z’ ~ 0 M
fea T awe lalidy = 0-1M_
. Space for calculation / rough work
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